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Question Number : 1 Question Id : 405859213 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The domain of the function flx)= Ja—x2 + 2+ 18[a, b], then a®+3b% s

equal to
Options :
405859781. 4
405859782. 8§

405859783. 12

405859784. 16

Question Number : 1 Question Id : 405859213 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Online
Mandatory
20

20

80

Yes

0

1
40585910
Yes

null



Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

F(x)=Va—x? + J2+x PIU[a, 5] 8. T o? + 357 IR E:
Options:

405859781. 4
405859782. §
405859783. 12

405859784. 16

Question Number : 2 Question Id : 405859214 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let Z denote the set of real numbers, = the set of integers and W the set of Non-
negative integers, and define a map

(1) fi:Z—=Zbyfi(x)= x°. Then f; ; 15 one-one and not onto.
()5 :R—=ERbyfilx)= . Then /> 1s one-one and onto.

(11) f3 : © — W by f3(x) = |x|. Then f3 1s not one-one but 1s onto.
(1) fy: Z — Zby falx)= 2. Then f4 1s neither one-one nor onto.

Then which of the following options is correct?
Options :
405859785, (1). (111). (1v) are true but (11) 1s false

405859786. All are true

405859787, (11). (111) and (1v) are true but (1) 1s false



405859788, (1). (11) and (1v) are true but (111) is false

Question Number : 2 Question Id : 405859214 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

O] = AR Y- &1 99w 5. - QU] &1 9d & aul W BURR
quTiee] &1 T=d 5 | afe

W) f;:Z—Z A= 8.d f, oo § R ABEH ol ol

(i) fo B — R ) =1 8. O £, Tho! qul 3Bes ¢ |

(iii) f3 : 7 — W, f4(x) = [x| 8. T f; THa! 78] § TR ATHEP ¢
(V) fy: 7 — 7. f)=x28. Tl £, 70 Thd g 7 ol HTBED 3l
ar

Options :

405859785, (1) (iii). (iv) I §. T (if) SA ¢

405859786, I AT &

405859787, (i), (iif) TT (iv) T €, TG (i) AT

405859788, (1. (i) T (iv) T § U (iii) A §

Question Number : 3 Question Id : 405859215 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



J5+12i ++/5-12i

I —= =a+bi,.thena—bis:
N5+12i —+5-12i
Options :
5
405859789. 6

405859790. 12

I‘Jf'.-.l

405859791.

405859792, 12

Question Number : 3 Question Id : 405859215 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
V5412 + /512

5+12i —Af5-12i

Options :

= a+ bi %’?‘ﬁ a—bW%:

-

405859789.

405859790. 12

I‘Jf'.-.l

405859791.

405859792, 12



Question Number : 4 Question Id : 405859216 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

25 0 100
Let A be a 3x3 matrix such that adj(4)=| 0 4 3 |.then determinant of 4 is

0 100 100

Options :

| ]
n

405859793.

- |
=

405859794. -

405859795. 100

405859796. 1000

Question Number : 4 Question Id : 405859216 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

25 0 100

HH3:3 D UD HMAEAD [T adi(4)=| 0 4 3 | BI04 DIIRMOS
(100 100

%

Options :

405859793. 15

J
—

405859794. 5

405859795. 100



405859796. 1000

Question Number : 5 Question Id : 405859217 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The total number of times the digit 3 will be written when listing integers from 1 to
1000 18

Options :

405859797. 297

405859798. 243

| )
e |
L]

405859799.

405859800. 300

Question Number : 5 Question Id : 405859217 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

19 1000 T Uriep| ! feRa TR, 3@ 3 Pl [dha-l AR ferar S 2

Options :

405859797. 297
405859798. 243
405859799. 273

405859800. 300



Question Number : 6 Question Id : 405859218 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The coefficient of x** in (1L + Izjlz (1 —_1'12} (1+ 1’34] 18

Options :

12 iy
405859801, Cs ™3

lEC
405859802. 6

12 iy
405859803, Cs T 1

-

1204 5
405859804. 6=

Question Number : 6 Question Id : 405859218 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
1+D2 (1 +x12) (1 +2H T2 PTONS &
Options :

12 il
405859801, Cs T3

12C
405859802. 6

12 iy
405859803, Cs T 1



-

1204 5
405859804. b

Question Number : 7 Question Id : 405859219 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

]

i
: a-
Sum to n terms of the series log, a + log, | —
' b

f..3 ‘.I_ 4
+ log +log,| L |+
Bl Be| =3 |+ weemreeeens
b= ) b

15

Options :

o™y
£|:{ﬁ+l]| log, | i |—log, fn‘?:|
b

b=d

405859805.

b |

n a |
=|» log,. —J—lngf .m’:IJ
405859806. b

r

n a
—{ log,. (— ] +nlog, uh—‘
405859807. 2 b.

n ¥
7}—[” log,. [_] + log, fff:!—‘
405859808, 2 b |

Question Number : 7 Question Id : 405859219 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
oAy |'(

2 3 40 ’
gt log, a + lngl.[%- +log, :w | ]ﬁgr[ﬂ-- E eeennn D VYT 1 UG HTART B

f‘-‘ﬁ

'|\ F)

Options :



™
£|:{ﬁ+1] lngi,| = |—Ingl, fn'}:|
b

[ %]

405859805.

b |

n a ) |
=7 log,. —J—lngf m’:J
405859806. b

I

n a
—{ log,. (— ] +nlog, uh—‘
405859807. 2 b.

" &l
_..[” log, [_] + log, fff]]
405859808, 2 b |

Question Number : 8 Question Id : 405859220 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If the sum of first 10 terms and first 26 terms of an A.P. are 190 and 1326
respectively. then find the sum of its first 50 terms.

Options :
405859809. 4900
405859810. 4924

405859811. 4950

405859812. 4980

Question Number : 8 Question Id : 405859220 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

afe T AP & UUT 10 U] aUT WUH 26 UST & N HHRT: 100 GUT 1326 B, ol
U WYY 50 US| D1 g JTd BHIfTY |

Options :
405859809. 4900
405859810. 4924

405859811. 4950

405859812. 4980

Question Number : 9 Question Id : 405859221 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

5 o .
If 1im 2 l_ lim 2= ‘{,\ . then k 15 equal to
r— .'I.'—]. 23k = — If".-—'

Options :

2
405859813. 3

7
405859814. 3

8
405859815. 3

10

405859816. 3



Question Number : 9 Question Id : 405859221 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
5 S A,
-qﬁ Hm'\——l=lim 2 AMFﬁkW%[

) }
r—] X— 1 2k = _ k=

Options :

Ll |

405859813.

L |~

405859814.

| oo

405859815.

10
405859816. 3

Question Number : 10 Question Id : 405859222 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

: ¢
x+ xE:m nx, O<x< "
Let f: [0, 1] — Z be a function defined by f(x)= 2xcotx+ b, Kioge®
; 4 2
. T i
acos2x—bsinx, —<xsm
If fis continuous for 0<x <. then a® + 14067 is equal to
Options :

405859817. 0

405859818, =



405859819, 27~

| B ]

n
405859820. 2

Question Number : 10 Question Id : 405859222 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

. T
T+ﬂEHﬂﬂT. “Er{if
HHEIUD Do f: [0, 1] = E. f(x)=. 2xcotx+bh, .1‘51_:_1-5%.
' 9 Z
- Ly | . n g
acos2x—bhsinx. - <X&ER

eRIORUINE 81 3fE 0 < v < & o0 £HTA B, A1 &2 + 1400° ST B

Options :

405859817. 0

| ]

405859818. =

405859819, 27~

| 5%

n

405859820. 2

Question Number : 11 Question Id : 405859223 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



PEA) .
- — 1s equal to
3IN° XC08T X

Options :

405859821, tanx T ¢cotx — ¢

405859822, (tan x + cot x)? +¢
405859823, tanx —cotx T ¢

405859824, 2(sec x tan x — cosec x cot x) + ¢

Question Number : 11 Question Id : 405859223 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
* i'l., 3

[—F— TR T

5IN° XCO5™ X

Options :

405859821, tanx T cotx + ¢

405859822, (fan x + cot x)* + ¢
405859823, tanx —cotx T ¢

405859824, 2(sec x tan x — cosec x cot x) + ¢

Question Number : 12 Question Id : 405859224 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The solution of differential equation [_1‘-5- 2y7 ]% = Ji:18
Options :

405859825, X =)V T ¢
405859826, ¥ =X *c¢

405859827. x=» (" *¢)

-

405859828. ¥ =X (x~ T ¢c)

Question Number : 12 Question Id : 405859224 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
HTDT FHTR (x+ 2,7 ]%: y BIgAgl

Options:

-
o

405859825, X =V T ¢
405859826, ¥V =X tc¢
405859827. x =y~ *¢)

405859828. ¥ =X (x” T ¢)

Question Number : 13 Question Id : 405859225 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
The point diametrically opposite to the point (—1. 1) on the

. i) ) .
circlex“ +y —x—4y+1=01s

Options:

405859829, (—2. 5)
405859830, (2: —5)
405859831, (0. 3)

405859832, (2. 3)

Question Number : 13 Question Id : 405859225 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

qAZ +32 —x— 4y +1=0WR 65 (-1. 1) BT AT THE 65
Options :

405859829, (—2. 5)

405859830, (2- —3)

405859831, (0. 3)

405859832, (2. 3)

Question Number : 14 Question Id : 405859226 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1

The vertices of a triangle OAB are (0. 0). (a, 0) and (0. b) respectively. The
distance between its orthocentre and circumeentre 1s

Options:

405859833, (a + b)

405859834, (a—b)

- H:+h:r
405859835. 2

—~a® - b?
405859836. 2

Question Number : 14 Question Id : 405859226 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
U% FYS OAB & 21N (0, 0), (a. 0) TUT(0, b) T | THD GaD = qUl GRS &

daade:

Options :

405859833, (a + b)

405859834, (a—b)

-I*‘\II-.’F: +h:r

405859835. 2

ZJa® — bt
405859836. 2



Question Number : 15 Question Id : 405859227 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The shortest distance between the lines 7= (i +2; 4 H-_] | },[f 3j+2k) and

F= (40 +5]+6k)+p(2f +3j+k) is

Options :

L units
405859837. 19

405850838, V19 units

3

units
405859839. Jﬁ

A
- 1ilrs
405859840. V19

Question Number : 15 Question Id : 405859227 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

RIS 7= (7 42743 )+ 2 (7 - 37 +.2k) TUT # = (47 4.5+ 6k) + (27 + 3]+ &) P A
TIA G &I

Options :

|
405859837. 19

405859838. V19 &9 é

405859839.



v

|

405859840. V19

Question Number : 16 Question Id : 405859228 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
—% A A o, — T M
The projection vectorof @ =i —-3j —3k on b=3i-4j is

Options:

405859841.

i = |
405859842, JI9 19

124 365 363

405859843, 3 37 J

405859844, V1 —12]

Question Number : 16 Question Id : 405859228 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

b=3i-4] W a=1-3] —3k SIYAT AREY 2|
Options :

405859841.



3

4 »
12 4
405859842, Voo Jio

12+ 364~ _36p

i g
405859843. 3 X 3

405859844, 21 —12]

Question Number : 17 Question Id : 405859229 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

. 3 ¥ = “.) S 2 ;S
Given ‘ : ]=| 5 |=| and | ., |= J3 - If ¢ 1s a vector such that

— =

-y —'rl (] =
c—a-2b=3laxbh i .then ¢ - b 1s equal to

Options:

405859845. 2

b2 | =

405859846.

b |t

405859847.

b | Ln

405859848.



Question Number : 17 Question Id : 405859229 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
2|l 3 |oa 0 | 2 5| 5 RETeE AR G R & g
2o aheilad) BN

Options :

405859845. 2

| =

405859846.

I-Jl'.u

405859847.

bd |

405859848.

Question Number : 18 Question Id : 405859230 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

3
If 4 and B are two events such that P( 4| B) = ; and P(A'UB') L then
P(A)+P(B) =

Options :

405859849.

o0 | tes

405859850.



oo |

405859851.

11
8

405859852.

Question Number : 18 Question Id : 405859230 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
ey
gig gl g1l 4 U B & [T p(4UB) = ; qur P(A'UB') 4%‘ dl p(4)+P(B)

Options :

el

405859849.

o0 | taa

405859850.

oo |

405859851.

11

405859852, 8

Question Number : 19 Question Id : 405859231 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The value of gge]5° - _ch,@gcc 15¢ 18

Options :



405859853, 2
405859854, 33

405859855, —3v3

405859856, ~4V2

Question Number : 19 Question Id : 405859231 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
secld” —ﬁmscclﬁf’ Eﬁ[l:ﬂ?[‘%ﬂ
Options :

=

405859853, 2
405859854, 33

405859855, —3v3

405859856, ~4V2

Question Number : 20 Question Id : 405859232 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

cot 17 + cot 18 + cot 15 =



Options :

405859857 cot™12

405859858, cot 110

405859859, cot 16

405859860, cot™14

Question Number : 20 Question Id : 405859232 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
cot 17+ cot 18 + cor 15 =

Options :

405859857 cot™12

405859858, cot 110

405859859, cot 16

405859860, cot 14

Mathematics Section B

SectionId : 40585911
Section Number : 2

Section type: Online



Mandatory or Optional : Mandatory

Number of Questions : 10
Number of Questions to be attempted : 5
Section Marks : 20
Enable Mark as Answered Mark for Review and

Clear Response: ves
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 40585911
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Number : 21 Question Id : 405859233 Question Type : SA Calculator : None Response

Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let o and P be the roots of the equation x* — 6x — 2 = 0, with o > p. Ifa,=ao"-p"

-2a, .
for 5 > |. then the value of —”—-l is equal to
3a,

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 21 Question Id : 405859233 Question Type : SA Calculator : None Response

Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Wﬂﬂﬁw 3—&— 2=0P Ao TUIPE aU «>B Tl Al a,=a"—p"
p21 8 AL LPAARR I

3a

o



Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 22 Question Id : 405859234 Question Type : SA Calculator : None Response

Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If . B. v are the angles of a triangle. then the value of the determant
cotae  cotf coty

1 | l | 1s equal to
sin” o :-'.inlii sin” Y
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText

Possible Answers :

1

Question Number : 22 Question Id : 405859234 Question Type : SA Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

cotot  cotPp coty

S o, p. y TP AYS & DIV 5, 7 AR | | ! || 1O RER
sin” o :-.in:Ii :,in:'-f

gl

Response Type : Numeric

Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText

Possible Answers :

1

Question Number : 23 Question Id : 405859235 Question Type : SA Calculator : None Response

Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
.- 21
If 8 term in the expansion of | 3L 4 i contains equal powers of a and b.

b Na )

then value of # 1s

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 23 Question Id : 405859235 Question Type : SA Calculator : None Response

Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

'., a f \ 'Iﬁ 'ﬂ 2 i
afg JJ:h‘ | FUIR T UG T o YT b & ITd SRISR . Al » STHA
g |

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText



Possible Answers :

1

Question Number : 24 Question Id : 405859236 Question Type : SA Calculator : None Response

Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

{ :
] ———— |. then dy
| 1+18%2 o

If y=tan atx=01s

= 3x — 1+tzm
1+ 54x° )}

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 24 Question Id : 405859236 Question Type : SA Calculator : None Response

Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

s 8 :
qﬁ}-‘:tan_l[j—lﬁ}+taﬂ -1 J%fﬂr—ﬁ]tﬁ dy ERACES
L 1+54x2 ) ll+18r &

g

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 25 Question Id : 405859237 Question Type : SA Calculator : None Response



Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The value of J f(x)dr, where f(x)=|x—1|+x—2|+|x—3|is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 25 Question Id : 405859237 Question Type : SA Calculator : None Response

Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[ £(x)ate. T f)=lx—1+x—2+ k-3 3. PTAFT

|
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 26 Question Id : 405859238 Question Type : SA Calculator : None Response

Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Let v = y(x) be the solution of differential equation sinx—+ ycosx=4x. If
¢

_1{%]:[} and 1|—?—};|:%fr . where @ and P are co-prime numbers, then value
of (o + ) 18

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 26 Question Id : 405859238 Question Type : SA Calculator : None Response

Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
v i
HET 3{ddbd GHIHRUI sinx%fvcos:rz 4x PIed y = yx) %I afg _yl §}=U

T -"[‘?T:':%”:%' Rl o TUT B IREHST Tl &, & (o« + p) T I ©
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 27 Question Id : 405859239 Question Type : SA Calculator : None Response

Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Let L denote the line in the xy-plane with x and y intercepts as 2 and 1 respectively.
Fl
[ A

If the image of the point (—1. —3) in this line 1s “? - J . then a + P 1s equal

fo

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 27 Question Id : 405859239 Question Type : SA Calculator : None Response

Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

HHT xp-T909 H x 3fd-@S 2 dUTy 3fd-@s 1 HI@ L g ufe sgar g
&g (-1, -3) PruRfEs |%E] 2 Mo+ paERT

5

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 28 Question Id : 405859240 Question Type : SA Calculator : None Response

Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
The length of projection of the line segment joining the points (1. 0, —1) and (-1, 2,
2) on the plane x + 3y — 5z =6 is d. then find 704”

Response Type : Numeric

Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText

Possible Answers :

1

Question Number : 28 Question Id : 405859240 Question Type : SA Calculator : None Response

Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
feig3il (1. 0. 1) TYUT (-1. 2. 2) DI I 90 TET WS S GHAT x + 33— 52=6
R W& @] Tdls d 8. di 704% 1 Pifog

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 29 Question Id : 405859241 Question Type : SA Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

There are two bags. The first bag contains 3 white and 4 red balls and the second
bag contains 4 white and 3 red balls. Two balls are drawn at random from the first
bag and are put into the second bag without noticing their colours. Then two balls
are drawn from the second bag. If the probability that one ball is white and the

other is red 18 % where % 15 in the simplest form. then value of (2x —y)
. : :

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal



Text Areas : PlainText

Possible Answers :

1

Question Number : 29 Question Id : 405859241 Question Type : SA Calculator : None Response

Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

YA T | U5 9 & 3 TS a7 4 919 Tig § 9T SR U H 4 Whg quT 3 91
g | fa 3138, 1 7is vedl 491 I uesa oA ax g dd H S af
S 81 79 g 4d 9 2 71g HaTelt ol | 31 U 11 3 i aul gl 7ig
& A1 B DI U@l % 5. ufsT'T". AAH BT H B, 1 (2x —y) PTHA

®

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 30 Question Id : 405859242 Question Type : SA Calculator : None Response

Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

Ina AABC. ZA= % If mn% and tan (T are the roots of 2x2 — bx — ¢ = 0. then

what is the value of (b — ¢)° 7
Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :



Question Number : 30 Question Id : 405859242 Question Type : SA Calculator : None Response

Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AABC, Z4 —% %I e FHIG 252 — bx — e =0 aﬂiﬂ mn% dyl l-.m; % ?‘ﬁ(b
—c)PHHAAT ]
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Aptitude Test
Section Id : 40585912
Section Number : 3
Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 50
Number of Questions to be attempted : 50
Section Marks : 200
Enable Mark as Answered Mark for Review and
Clear Response: ves
Maximum Instruction Time: 0
Sub-Section Number : 1
Sub-Section Id : 40585912

Question Shuffling Allowed : Yes



Is Section Default? : null

Question Number : 31 Question Id : 405859243 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Saturation level of colors represents
Options :

405859871. Distribution
405859872, Darkness
405859873. Brilliance

405859874, Warmth

Question Number : 31 Question Id : 405859243 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
T T Wgfe (R TR wiaffa sRar g

Options :

405859871. TAcRTI

405850872, AERTAT (TEXIT)

405859873, dH®

405859874, HIR T &l



Question Number : 32 Question Id : 405859244 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following 1s a shell structure?
Options :

405859875. Millenium dome

405859876, Stansted airport
405859877. Bank of China tower

405859878, Louvre. Museum

Question Number : 32 Question Id : 405859244 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

S0 O B 91 gie @rd (e WA BT 82
Options :

405859875. SiE 4G

405859876, ¥C ReS daRY c

405859877, S 31 Mg €TaR

405859878, CIAX H] ST



Question Number : 33 Question Id : 405859245 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identify the building material represented in the given figure

Options :

405859879. Tile

405859880, Paving Block

405859881. Wooden Plank

405859882. Granite

Question Number : 33 Question Id : 405859245 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TR HI I H Ha FHior Il & R 31 ugaH o

Options :

405859879. CIRU

405859880, UTdT &dll®

405859881, P16 P % (WD)

405859882. 5 =

Question Number : 34 Question Id : 405859246 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Before plastering. the surface has to be :
Options :
405859883. Cemented

405859884, Polished

405859885. Smooth

405859886, Rough



Question Number : 34 Question Id : 405859246 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
WReR P 9 94 Hag Pl

Options :

405859883, HIHICS

405859884. qIei=rs

405859885, TeId -l

405859886, T

Question Number : 35 Question Id : 405859247 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Who designed the 'Sydney Opera House'?

Options :

405859887. Jorn Utzon

405859888. Jan Gehl

405859889, Bjarke Ingels

405859890, Henning Lorsen



Question Number : 35 Question Id : 405859247 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fRsT 3111 819 @I URS AT fhgH @ Ui

Options :

405859887, S I

405859888, I 11T

405859889, SOIP SoICH

405859890, BI-TT TIEH

Question Number : 36 Question Id : 405859248 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The design elements which are associated with the sense of touch
Options :

405859891 . Pattern. Shape. Form

405859892. Texture, Shape. Form

405859893, Shape. Pattern. Texture

405859894, Form. Pattern. Texture



Question Number : 36 Question Id : 405859248 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
@ el Siagd ol fdp T%l FHTey 9 96 § -

Options:

405859891, T, STPR, TP

405859892, XA (F1G2), PR, SHIPId

405859893, TP, FHAL TR (d-ldc)

405859894, AT, THAT W= (§T1d<)

Question Number : 37 Question Id : 405859249 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The First World Environment Day was held in which year?
Options :

405859895, 1973

405859896. 1976

405859897. 1978

405859898. 1970



Question Number : 37 Question Id : 405859249 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

guH fdva ggiaRul fGay fe au 7= Tam 412

Options :
405859895. 1973
405859896. 1976

405859897. 1978

405859898. 1970

Question Number : 38 Question Id : 405859250 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Elephanta Caves are dedicated to which God?
Options:

405859899. Budha

405859900. Tirthankar Mahavir

405859901. Shiva

405859902. Vishnu

Question Number : 38 Question Id : 405859250 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1
ufethel @1 %Y g yia & 9afdd g2

Options :

405859899, %

405859900, TP AR

405859901, 191G

405859902. 7 L

Question Number : 39 Question Id : 405859251 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which one of the following is not a city type?
Options :

405859903, Garden City

405859904, Linear City

405859905, Radiant City

405859906, Stack City

Question Number : 39 Question Id : 405859251 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
fFrafafad ¥ 9 19 91 7R o9 T8 82

Options :

405859903. NISEARIT

405859904, fei-aR fafe

405859905. E%QE e

405859906, TP [

Question Number : 40 Question Id : 405859252 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

A gigantic chariot with elaborately carved stone wheels. pillars and walls are the
characteristics of :

Options :

405859907, Konark Sun temple

405859908, Golden temple

405859909, Meenakshi temple

405859910, Dilwara temple

Question Number : 40 Question Id : 405859252 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

U faenaeE Y 5 & quivsad 3@ vl g fed, Wm SR fdar
RS
Options :

405859907, P10 & g HieR

405859908, U AR
405859909, HITE Afd

405859910, T&eTaRT Afdx

Question Number : 41 Question Id : 405859253 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Who built the Moti Masjid in Red Fort at Dellu?

Options :

405859911. Shah Jahan

405859912, Aurangzeb

405859913, Qutub-Ud-Din Aibak

405859914, Akbar

Question Number : 41 Question Id : 405859253 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

feeol g ara foed & Tl afese &1 Aair o s,

Options :

405859911, RTESE

405859912, ARIToE

405859913, P IE-3G-1d7 UTD

405859914, AP &Y

Question Number : 42 Question Id : 405859254 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Spray painting 1s used to :

Options :

405859915, Get a textured pain

405859916, Reach high areas

405859917, Apply paint without touching surface
405859918, Apply large amount of paint

Question Number : 42 Question Id : 405859254 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
o) U oy T o &

Options :

405859915, X q ﬂE%@

405859916, AT ITH &1 P forg

405859917, A8 P TR fol a1 Ue T

405859918, 4P HE H 42 B3 B

Question Number : 43 Question Id : 405859255 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

An escalator looks like which one of the following?
Options:

405859919. Ladder

405859920. Stair case

405859921, Ramp

405859922, Lift

Question Number : 43 Question Id : 405859255 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
IS T&balex Hgiaad 3 4 g &1 aig [ qar a2

Options :

405859919. g é

405859920. 4 E 2

405859921, ¥ (@)

405859922, Tolue

Question Number : 44 Question Id : 405859256 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Concrete 1s a mixture of
Options :
405859923, Cement + Sand + Water

405859924, Cement + Coarse Aggregate + Fine Aggregate +~ Water

405859925, Cement + Water + Brick Bat

405859926. Cement + Sand + Water + Brick Bat

Question Number : 44 Question Id : 405859256 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Hwic P UF YU B |

Options:

405859923. Hitie + 8 [+

405859924, STHC + HICT U= + el Y=Y + Tl

405859925, JMHE + U + 5 & Ty

405859926, STHE + AT + THI + 5 P ¢HG

Question Number : 45 Question Id : 405859257 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

What type of tile are suitable for air - conditioned rooms and gymnasium?
Options :

405859927. Cork Tile

405859928, Ceramic Tile

405859929. Concrete Tile

405859930. Wooden Tile

Question Number : 45 Question Id : 405859257 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
TP icrd HHL SR IRITHRITE] & (o [68 UHR Bl elgel ST 57

Options :

405859927, P TI5Cl

405859928. SHEE 55

405859929. Behie El%é!

405859930, P16 P CI5l

Question Number : 46 Question Id : 405859258 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Famous Tassel House was designed by
Options :

405859931. Victor Horta

405859932. Gerrit Rietvelt

405859933, Mies Van der Rohe

405859934, Frank Lloyd Wright

Question Number : 46 Question Id : 405859258 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
IS THd 8139 & gRI FewTg fdaar T o |

Options :
405859931. qaeR éIEi

405859932, TI¥e dee

405859933, 71 a1 S e

405859934, @ (145 RIgC

Question Number : 47 Question Id : 405859259 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who 1s the Author of "Toward an Architecture"?
Options :
405859935, Frank Ching

405859936. Le Corbusier

405859937, Kevin A. Lynch

405859938, Frank Wright

Question Number : 47 Question Id : 405859259 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
2las T IR & TEad B o2
Options :

405859935, Wb T

405859936. d iE X

405859937, Pid Tt

405859938, Weh 7]

Question Number : 48 Question Id : 405859260 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Hiroshima Peace Memorial Museum in Japan was designed by :
Options :

405859939. I. M. Pie

405859940. Tadao Ando

405859941, Kenzo Tange

405859942, Kisho Kurokawa

Question Number : 48 Question Id : 405859260 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
S H g feiim wifa wRe Sueay s gr1 fears faar mar up
Options :

405859939, 315,04, UT3

405859940, CIS! 3=l

405859941, DIl €1F

405859942. E EE P1dl

Question Number : 49 Question Id : 405859261 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following 1s not a prineciple of Design?

Options :

405859943, Emphasis

405859944, Focal Point
405859945, Unity

405859946, Rhythm

Question Number : 49 Question Id : 405859261 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
fFafaRad & O &1 T Us fSug &1 Rigrd Tof o7
Options :

405859943, SIR &1

405859944. 14 fa 2

405859945, YP

405859946, TTHG

Question Number : 50 Question Id : 405859262 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Which of the following software 1s not used by architects
Options :
405859947. Staad. Pro

405859948. 3D Max

405859949, Revit

405859950, Sketch Up

Question Number : 50 Question Id : 405859262 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1
Fafifad o 9 &1H 91 SiredaR aRdfdal gRT YR g1 {1 §irdl 62

Options :

405859947, T3 UI.

405859948, 3D HaT

405859949, 3fdc

405859950, Thd 3T

Question Number : 51 Question Id : 405859263 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who built the Shalimar Bagh. Srinagar?
Options :
405859951, Bega Begum

405859952, Akbar

405859953, Shah Jahan

405859954, Jahangir

Question Number : 51 Question Id : 405859263 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

fR ¥ wnfemr | &1 ot fegm samr ar

Options :

405859951 . &1 &TH

405859952, AP EY

405859953, RMEUIE

405859954, STGITIIY

Question Number : 52 Question Id : 405859264 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Kanpur, Uttar Pradesh 1s also known as :
Options :

405859955, The Leather City

405859956, Wine Capital of India

405859957. The Drange Cit}'

405859958, City of Nawabs

Question Number : 52 Question Id : 405859264 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
SR WS FUd FAR & A 9§ ft S S B

Options :
405859955, e RIfe (@R

405859956, HTRT B AR (HIERT) AT

405859957, AR TR

405859958, TdTal BT WET

Question Number : 53 Question Id : 405859265 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

How the load is transfered from the super structure to sub structure?

A, Beam
B. Slab

C. Foundation

D. Earth

E. column

Choose the correct answer from the options given below:

Options :

405859959, 4. B.E.D.C
405859960. E.A.C.B.D
405859961, 4. B.C.D. E

405859962, B.A.E.C.D



Question Number : 53 Question Id : 405859265 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

YR B HIEEREAT 9 ITEE- & od Sgidid f&ar ordr g2

A, 99 (839)
B. Wi (ufean
c. i
D. 4
E. Blad (Y)
Fafaiad fasedl H 9 9l 3o &1 94 Sl :

Options :

405859959, A.B.E.D.C

405859960. E.A.C.B. D

405859961, A.-B.C.D.E

405859962, B.A.E.C.D

Question Number : 54 Question Id : 405859266 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The Question figure shows the 3D view of an object. Identify the correct view,
looking in the direction of Arrow. identify the correct view of the object.

Options :

405859963. J |7

405859964.
405859965.
405859966.

Question Number : 54 Question Id : 405859266 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



TP P bl a%g @1 3D TR SNl & IR Bl fa=n § ef$71d &vd gu
ol T B UgdH By:

Options :

405859963. J |7

405859964.
405859965.
405859966.

Question Number : 55 Question Id : 405859267 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



The question figure shows the 3D view of an object. Identify the correct top view
amongst the answer figures.

T e
Ry
Ty

___d_ "-\.H " Sl -_____.-":
o - ’
r\x‘u.--" e
- J\[

et T o

."f"'"
-

o

Options :

405859967.

405859968.

405859969.

405859970.

Question Number : 55 Question Id : 405859267 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



UHTS Y Tl Tl a%] BT 3D =20 &Xidl §1 IR pfaal ¥ 4 Fel 2
€Y Pl UG He |

-
-

" e TR
i,

Options :

405859967.

405859968.

405859969.

405859970.

Question Number : 56 Question Id : 405859268 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[dentify the mirror image of the given word with respect to X-X

K gssraraiies M

MOUSE
Options :

405859971, WONSE



405859972, WONEE
405859973. WOUz23

405859974, WOUZEE

Question Number : 56 Question Id : 405859268 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

X-X & gy ¥ f3U 70 s & U uiafds (fame) &1 tgam &%

X X

MOUSE
Options :

405859971. WONSE

405859972. WONeE

405859973. WOU23

405859974, WOUZEE

Question Number : 57 Question Id : 405859269 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



. RN

When the paper 1s folded 1n a given pattern and it 1s cut at the end. Identify which
pattern is formed when the paper is unfold.

Options :
. A% ’ .
SR
405859975, s __sle o%

405859976, k=4~ __=

405859977. L=

]
- : ]
i
o A% o)
- e (o -

405859978, s __eis e

Question Number : 57 Question Id : 405859269 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



g ...... U {(} I\\

g U HITol B U Y Yol 30 HIST 9T 8. 3 § H1el oifdl 8. UgaH
@~ [ OTd BT ST (3Fhies) [ Wi &1 91 U g |

Options :

405859975, L's__s.

1
~ i -,
. e
LY I #
~ o

-\illn.r
[ .\*.a|. a
r LN |

PR N

405859976, k=2 =

405859977. L=

. :
- ]

ey i

i
s LAkl =
s ¥ s

405859978, i __sis _e°

Question Number : 58 Question Id : 405859270 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[dentify the figure which is odd from rest of the figures.
Options :

405859979.



N
N

N
N\

7

o

Z
405859980. 252?

405859981.

7

N

%
405859982./i;£

Question Number : 58 Question Id : 405859270 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
&l 7% Spfadl H U 39 SPHid Bl UgdH B ol 41! 9 3 &

Options :

N
N

N
N

405859979.




7//

N

405859980.

405859981.

7
405859982. %

Question Number : 59 Question Id : 405859271 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement I : Stone masonary iz classified into two parts - Random rubble and
ashlar masonary.

Statement IT : Random Rubble masonary. each stone is cut to uniform size and
shape with all sides rectangular so that stones gives perfect joints.

In the light of the above statements. choose the correct answer from the options
given below

Options:

405859983. Both Statement I and Statement II are true

405859984. Both Statement I and Statement I are false



405859985, Statement I 1s true but Statement I 1s false

405859986. Statement I 1s false but Statement II 1s true

Question Number : 59 Question Id : 405859271 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e A Py AU @ ©: ﬂ H
%:Wwﬂﬁﬁﬁwﬂﬁaﬂwmw%-i%ﬂwmm
FYT 11 : 357 To5d oL, TP TR & GH-HHR H HIe ol & 3R Jaft
3R Y B Y i & AU SadPR 9 H Srel Sl ¢ | dlfd R J gRyut
s fagr &1 9o |

IURIad DYl & 3TelP i U MU fadedi T U ggl SR &1 90 D

Options:

405859983, QM ®YA-I 3R HY-11 Tl & |

405859984, &I BUH-I 3R HYA-I1 7Tad § |

405859985, PU-1 Te! fbrg HYUF-11 717 B |

405859986, PUT-1 TTad febrg HU-11 e B

Question Number : 60 Question Id : 405859272 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Identify the type of Garden by understanding the elements used in the given
picture:

Options :

405859987. Roman Garden

405859988. Japanese Garden

405859989. French Garden

405859990. Chinese Garden

Question Number : 60 Question Id : 405859272 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



& T = T v U 71U siqudl 1 99id gU 91 (TTSH) 1 UgdT &y

Options :

405859987, I T+

405859988, ST TS

405859989, g e+

405859990, HIgI4T I S

Question Number : 61 Question Id : 405859273 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List II

LIST1I LISTII
A |Rila Monastery I |Egvpt
B. |Moha Bodhi Temple| II. |Bulgaria
C. |Wadi al Hitan I11. |Malta
D. [Valletta IV, |India

Choose the correct answer from the options given below:
Options :

405859991, A-IV. B-III .C-I .D-II
405859992, A-IL. B-IV .C-I .D-III
405859993, A-IV. B-1 .C-II .D-III

405859994, A-IL. B-IV .C-III .D-I

Question Number : 61 Question Id : 405859273 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tl 1 1 Al 11 & 1Y T &1
= T I
frergHwsr | 1 |
Heraidl #fex| 1w [gemiar
qItg e fged | 111 [Areet
deieT IV, |4Rd

+d feu U fa el § I ol 3R &l 90+ oy

Options:

=

FIEIE

405859991, A-IV. B-III .C-I .D-II

405859992, A-IL. B-IV .C-I .D-III



405859993, A-IV. B-I .C-II .D-III

405859994, A-IL. B-IV .C-III .D-I

Question Number : 62 Question Id : 405859274 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identify the name of the monument :

Options :

405859995, The Pantheon

405859996, The Cathedral of Pisa

405859997. The Parthenon

405859998, Great Temple of Karnak

Question Number : 62 Question Id : 405859274 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
RS & H DI I8 De:

Options:

405859995, &l Ju=

405859996, ol PUST AT T

405859997, &I U1

405859998, U I HTH PHHIH

Question Number : 63 Question Id : 405859275 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The question figure shows the 3D view of an object. Identify the correct view.
looking 1n the direction of Arrow :

A
Options :



Question Number : 63 Question Id : 405859275 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Y 3Tl i a%g 1 3D T2 SRl 81 R 1 (G P71 PR gU IR
T B gg g o

g--gs

A
Options :

405859999.



Question Number : 64 Question Id : 405859276 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Identify the correct mirror image of the given figure along X-axis.

X

Options :

4058591003.



>

/

4058591004.

4058591005.

4058591006.

Question Number : 64 Question Id : 405859276 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

X-axis @ GIY Pl & Gel qUUI (919 BT g B

N
%

Options :

4058591003.



>

/

4058591004.

4058591005.

4058591006.

Question Number : 65 Question Id : 405859277 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Identify the Mirror image of given word

ARCHITECTURE

-

Options :
4058591007. ARCHIT30TUR3

4058591008. AAUTOITIHOHA



4058591009. ARUTOETIHOAHA

4058591010. 3AUTIOETIHOAHA

Question Number : 65 Question Id : 405859277 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

feu 770 9reg & U f9rE & UgaH 1|

ARCHITECTURE

- -

Options :

4058591007. ARCHIT30TUR3

4058591008. AHUTOITIHOHA

4058591009. ARUTOETIHOAA

4058591010. SAUTOETIHOHA

Question Number : 66 Question Id : 405859278 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Identify the true mirror image of the figure amongst the answer figures with
respect to X-X

oV
%

X

Options:

4058591011.

S
n ¢

4058591012.

1%
/'\

4058591013.

=
2

4058591014.

Question Number : 66 Question Id : 405859278 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



X-X & gy T IR DI H H Hl 34U f67d DI U5 B

X

oY%
//

Options :

4058591011.

A
n ¢

4058591012.

%
Zh

4058591013.

B
p

4058591014.

Question Number : 67 Question Id : 405859279 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Identify the correct figure to complete the sequence :

==l "l 2

Options :

4058591015.

4058591016.

|

4058591017.

4058591018. L

Question Number : 67 Question Id : 405859279 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



&1 715 STpfadl & Hgl S H & UgdH D

= | = ?

Options :

4058591015.

4058591016.

4058591017.

4058591018. L

Question Number : 68 Question Id : 405859280 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Complete the number series

10. 30, 68, 130. . 350



Options :

4058591019. 222

4058591020. 192

4058591021. 220

4058591022. 216

Question Number : 68 Question Id : 405859280 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

3! D G B J0] P
10. 30. 68. 130. . 350
Options :

4058591019. 222

4058591020. 192

4058591021. 220

4058591022. 216

Question Number : 69 Question Id : 405859281 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

In a clock. the time 1s 11:35 AM. The clock 1s so placed that its hour hand is facing
North-West. In which direction will be minute hand facing?



Options :

4058591023. South- East
4058591024. South-West
4058591025. North-West

4058591026. North- East

Question Number : 69 Question Id : 405859281 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

0% [GaR Usl & 999 § 11:35 UaiE, (4R S 59 UBR 4 T 7T © [P SHD
Hel I s - I - Uit & SifigE g1 fire o 38 fow leen &t siftaga gt

Options:
4058591023, &40 - Od

4058591024, GI&UT - Ti%H

4058591025, 30X - Ui&H

4058591026, SUX - Elﬁ

Question Number : 70 Question Id : 405859282 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List II

LISTI LISTII
A |Brick [. |Dampness Prevention
B. |Arch II. |Bevelled closer
C. |Lintel III. |Openings
D. |Cavity wall IV. |Span

Choose the correct answer from the options given below:
Options :

4058591027, A-IV. B-IL. C-I1. D-III

4058591028, A-IL. B-I. C-III. D-IV

4058591029, A-III. B-I. C-II. D-IV

4058591030, A-IL. B-IV. C-III. D-I

Question Number : 70 Question Id : 405859282 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tl 11 g 11 ¥ i &3

g1 g
A lge 1 |t e
B. [fgxe 1. [s3ds gaer
C. |fTea 111 | 3frafg
D. [®f3fe ard IV. s

f4U U f[dedl § I Tol 3R &I 9U-
Options:

4058591027, A-IV. B-II. C-I. D-III

4058591028, A-IL. B-I. C-III. D-IV



4058591029, A-IIIL. B-I. C-II. D-IV

4058591030, A-IL. B-IV., C-III, D-I

Question Number : 71 Question Id : 405859283 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII
(Buildings) (Architects)
A |Habital67 1 |F.L. Wright
B. |Falling Water II. |Moshe Safdi
C. |Gherkin Tower ITI. |Louis Kahn
D. |Fisher House IV. |Norman Foster

Choose the correct answer from the options given below:
Options :

4058591031, A-IL. B-I. C-IV, D-III

4058591032, A-IV. B-IL. C-III. D-I

4058591033, A-IV. B-I. C-II. D-III

4058591034, A-L. B-III. C-IV. D-II

Question Number : 71 Question Id : 405859283 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



gl 11 i 11 F i &

gH1 T 11
(Hd) @ARGPRY)
A [Rfges s I o . Tse
B. |wIfeRT arey I |9= 9wie
C. [ffdT e L. |39 @18
D. PR B89 IV. [9789 e
-4 feu T faoedl # 9 w6t SR I

Options:

4058591031, A-IL. B-I. C-IV. D-III

4058591032. A-IV. B-II. C-IIL D-I

4058591033, A-IV. B-1. C-II. D-III

4058591034, A-L. B-III. C-IV. D-II

Question Number : 72 Question Id : 405859284 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Identify the famous building in the given picture :

Options:

4058591035, Mysore Palace



4058591036, Khalsa Heritage Complex

4058591037, Hotel Taj Mahal Palace

4058591038. Victoria Memorial

Question Number : 72 Question Id : 405859284 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fau Y o F guilg 4o &l UgaH &

Options :

4058591035. S T

4058591036, Il g HIHcdy

4058591037, BIcd dIal Hed Uay

4058591038, [da il BHIGgd



Question Number : 73 Question Id : 405859285 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
"LEED' stands for :

Options :

4058591039, Leadership in Energy and Environmental Design

4058591040, Leadership in Environmental and Energy Design

4058591041, Leadership in Energy Efficient Design

4058591042, Leadership in Environmental Energy Design

Question Number : 73 Question Id : 405859285 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

LEED' &1 37:
Options :

4058591039, TTSXXIY 24 UG US TAaRRECH [SHIgH

4058591040, TSR 2 TR UUS Udll [SolTg

4058591041, TISY 2 Tl U RYU fEwg

4058591042, TSR S TTdARACH UGl [SSgA



Question Number : 74 Question Id : 405859286 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

From the given 3D view of an object, identify the most appropriate elevation
looking in the direction of the given arrow :

] P
Options :
4058591043.
4058591044.

e
4058591045.
4058591046.

Question Number : 74 Question Id : 405859286 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

=g T 9% &7 3D =%0 3 IR I 3= ¢ AR famn & waife Suga
I & UgdH B

Options :

4058591043.

4058591044.

4058591045.

4058591046.

Question Number : 75 Question Id : 405859287 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



From the given 3D view of an object, identify the most appropriate elevation
looking in the direction of the given arrow.

Options :

4058591047.

4058591048.

4058591049.

4058591050.

Question Number : 75 Question Id : 405859287 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



&g 718 3D G H1 3D T &9 SR, IR &1 fexn # fgwgn arel waffers Sugad
I &I UgdH He |

Options:

4058591047.

4058591048.

4058591049.

4058591050.

Question Number : 76 Question Id : 405859288 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Choose the correct top view of the given 3D image from the options.

e — _::_-m%f,ﬂ
"‘—-\_\_\_\__\_-h e __.-'—""f
Options :

4058591051. |

4058591052. J

4058591053. L

4058591054, /

Question Number : 76 Question Id : 405859288 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



feu 0 faweal § 9 9 70 3D 7 & 9! iy evg &1 99+ o3

Options :

4058591051. |

4058591052. J

4058591053. L

4058591054. L —

Question Number : 77 Question Id : 405859289 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Identify the True mirror umage of the figure amongst the answer figures with
respect to X-X.

X

x
Options :
4058591055.
f:»
4058591056.
4058591057, L—

4058591058. e

Question Number : 77 Question Id : 405859289 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



X-X & Ha¢ T Gk Spiadl o T Tgl g 3ld & 7 3t ugaH &e:

X

x
Options :
4058591055.
f:»
4058591056.
4058591057, kL—

4058591058, e

Question Number : 78 Question Id : 405859290 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements : One 15 labelled as Assertion A and the other 1s
labelled as Reason R.

Assertion A : Green buildings have a lower life cycle cost than conventional
buildings.

Reason R : Green buildings require less maintenance and have lower energy and
water consumption.

In the light of the above statements. choose the most appropriate answer from the
options given below :

Options :

4058591059, Both A and R are correct and R is the correct explanation of A
4058591060, Both A and R are correct but R 1s NOT the correct explanation of A

4058591061. A 1s correct but R 1s not correct

4058591062. A 1s not correct but R 1s correct

Question Number : 78 Question Id : 405859290 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

- &l By (4T TTU §: U &l iy A 3ifdrd fvam a1 § IR g8R &1 HRUI
R & U1 siftrd fpur mar

3ifi@y A - 5Rd yaH &1 oifa =9 IRIRS Yol B ga1 H o ST g
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Options :
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Question Number : 79 Question Id : 405859291 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII
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A |Tower Bridge L

B. |Tori II.

C. |Stonehenge ITI.
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D |Petronas Tower v
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Choose the correct answer from the options given below:
Options :
4058591063, A-IIIL. B-II. C-IV, D-I

4058591064, A-IV. B-III. C-I. D-II



4058591065, A-III. B-II. C-1. D-IV

4058591066. A-IV. B-I1. C-II. D-III

Question Number : 79 Question Id : 405859291 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options :

4058591063, A-IIIL. B-II. C-IV. D-I

4058591064, A-IV. B-III. C-I. D-II

4058591065, A-IIL. B-II. C-I. D-IV

4058591066, A-IV. B-1. C-II, D-III



Question Number : 80 Question Id : 405859292 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Identify the building material prumarily used for cladding in Lotus Temple :

Options :

4058591067. Dolomite

4058591068. Lime

4058591069. Marble

4058591070. Granite

Question Number : 80 Question Id : 405859292 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options:

4058591067. Sk IE

4058591068, 11 (€TIgH)

4058591069, TTHIHY (3 aﬁl)

4058591070. 2 ec

Drawing
Section Id : 40585913
Section Number : 4
Section type : Offline
Mandatory or Optional : Mandatory
Number of Questions : 2
Number of Questions to be attempted : 2
Section Marks : 100

Enable Mark as Answered Mark for Review and
Yes
Clear Response:



Maximum Instruction Time: 0

Sub-Section Number : 1
Sub-Section Id : 40585913
Question Shuffling Allowed : No

Is Section Default?: null

Question Number : 81 Question Id : 405859293 Question Type : SUBJECTIVE Consider As
Subjective : Yes Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 50

Draw a proportionate Sketch of the image given below in detail. Sketch this using
Black and White Medium only.

Question Number : 81 Question Id : 405859293 Question Type : SUBJECTIVE Consider As
Subjective : Yes Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 50
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Question Number : 82 Question Id : 405859294 Question Type : SUBJECTIVE Consider As
Subjective : Yes Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 50

Combine Musical Instruments like Guitar, Microphone (mic). Drums. Tabla.
Keyboard, ete. into a 3D Abstract Sculpture, using different colors to represent
various Texture and Instruments. You can scale each object to any size of your
choice. Apply the effect of light and shadow on your Sculpture.

OFR

Considering yourself as one of the spectators. draw a beautiful sketch of a Football
stadium where a match 1s going on.

Question Number : 82 Question Id : 405859294 Question Type : SUBJECTIVE Consider As
Subjective : Yes Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 50
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